
PTS 2021|L1 Test 6| ForumIAS 

ForumIAS Offline Guidance Centre 
2nd Floor, IAPL House, 19, Pusa Road, Karol Bagh, New Delhi – 110005 | helpdesk@forumias.academy|9821711605 

Q.1) Which of the following are the push factors 

of Rural to Urban migration in India? 

1. Rural poverty 

2. Higher wages in urban areas 

3. Natural disasters 

Select the correct answer using the code given 

below: 

a) 1 only 

b) 2 and 3 only 

c) 1 and 3 only  

d) 1, 2 and 3  

 

Q.2) Gaddi tribal community inhabits which of 

the following states in India? 

a) Madhya Pradesh   

b) Gujarat 

c) Arunachal Pradesh 

d) Himachal Pradesh 

 

Q.3) With regard to the Census of India - 2011, 

consider the following statements: 

1. Female literacy is higher than the national 

average in most of the states of south India. 

2. Kerala has the highest literacy rate among all 

the states in India. 

Which of the statements given above is/are 

correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2  

d) Neither 1 nor 2 

 

Q.4) Which one of the following types of 

settlements are more frequently found in hill 

areas of Himachal Pradesh and Uttarakhand? 

a) Clustered Settlements 

b) Hamleted Settlements  

c) Semi-Clustered Settlements 

d) Dispersed Settlements 

 

Q.5) The Livestock census in India is released by        

a) Ministry of Fisheries, Animal Husbandry and 

Dairying  

b) Ministry of Agriculture and Farmers Welfare  

c) Niti Aayog  

d) Ministry of Rural Development           

 

Q.6) Which one of the following statements is 

not correct about wheat? 

a) It is primarily a crop of temperate zone in 

India. 

b) Its cultivated area is mainly concentrated in 

southern India. 

c) Soils with a clay loam or loam texture and 

moderate water holding capacity are ideal for 

wheat cultivation. 

d) Its cultivation in India is done mainly during 

Rabi season. 

 

Q.7) Which of the following is/are major 

problems of Indian Agriculture? 

1. Dependence on Monsoon 

2. Constraints of Financial Resources 

3. Degradation of Cultivable land 

4. Underemployment 

Select the correct answer using the code given 

below: 

a) 1 and 2 only 

b) 3 and 4 only 

c) 2 and 4 only 

d) 1, 2, 3 and 4  
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